R B E =

TiE(LAR)L2) &R (LAR)LI) A (LARJLA) B (LARILE) B ] HE EES
+T
BT T
BEEELT BRPREE T m’ 2,399.2
TREER it m° 2,665.8 + &, 0=0.9
LT
RIE T—Tv m’ 7,661.0 TR
BEL BA1.0m=<B<4.0m m 4,495.7 T8
ks m’ 2,665.8 T#, C=0.9
iR T
BRTENET
RENE ZEMIE m? 2,000.0
HkEEMT
FERBEKE
Ea—LE P1-RC-D600 m 4.5
P1-RC-D900 m 31.9
K it
T UR—I 35T UkR—IL B 1.0
AR
SRE A = 1.0
ZET
R
ERNER B900-H500 H 1.0
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#EHIA (385)

A4-1=1577. Tm2

+180.88
A3-2=1522. 9m2
+180.88
A3-1=1524. 5m2

A1=109.9

12 R A (BRI X i)

A3=1640. 6m2

A5=1288. 56m2
+179. 96

A2-2=1453. 1m2
AR 3EE  h=300
A3=1322. 37m2

A2-1=138. Tm2

A EAKT
Ad=11. 19m2

A1=109.9 A2=T74. 4Tm2
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Al —XY-VHEBHAE
R
1LY
IEH R FER =Xiv =
PR 1R ( 109.9 + 138.1) x 0.76
+( 1453 + 1525 ) x 0.92
+( 1523 + 1578 ) x 0.85
+( 1160 + 1110 ) x 0.78 m 7334. 4
9.0 x 3266 + 6.2 x 526 m 326. 6
(FRIEEED m 7661.0
R HEREC ( 109.9 + 138.1) x 0.76
+( 1453 + 1641 ) x 2.37 m 7520. 5
(B R 81.40 x 0.35 + 74.47 x 2.78 + 1322.37
x 030 + 11.19 x 050 + 1288.56 x 2. 07 m -3305. 1
7.7 x 3265 + 55 x 526 m 280. 3
(BERCHE) m 4495.7
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. “r
IFE: #KkEEYT
. = 3 kY —
Al R —RE-VHEHAE
A& REMA
= =
H=EHBHIX
NZHhLRYSZ AT #BER sz Y)
2 WO B B & j 3
wEITows H=1750 1§ # @ 522
He1750 skEpA | @ 32
He1750 358 | @ 66
He1750 f%A | @ 2
He1750 &8 | @ 2
AEAHET HE (xXHyY) H=1750 S#&OE @& 6
BELZLA:I) V=36. 40x35. 40x0. 02 25.8 m3 s @ 630
E@O L5 — b (18-8-25)  V=(37.00x36. 00-0. 30x32. 10)x0. 15 - -
X EROLSU—RESD  +(0 665+0.30) /2x0. 71x33. 05 = 200.7 m3 BE/ R 1750PA =200 | #& 138 | L=1000
HpR A=(37.00x2+36. 00x2) 0. 15+33.05x0. 71 =  45.4 m2 1750PCL =200 | & 4 | L=1200
HEREs (013) W= (37.00x36. 00-0. 30x32. 10)x8x0.995 = 10526. 1 kg " . 12
REEHT (t=20) A=(36.70+36.00) x0. 15 = 109m - :
1EKIREEE T (B=200) L=36. 70+36. 00 = 727nm TYR—LE 1-25 $600 i 4 %imm
R (RO-40 t=150) A=37. 00x36. 00-0. 30x32. 10 = 13224 m2 1-25 $600 #HFE | i 2 | FEmu
ABRAT (B A=(c()65252é077g;<03:233?[§142—32+1) w0t n —— WEEsmET | 6
+(0. 50+2. x32. = .4 m,
HERRT (R ILTE) A=(36. 60x2+35. 60x2-32. 10)x0. 33 = Mim mEy >y 600x 50 Ll 3
B (t=10) A=36. 40x35. 40 = 1288.6 m2 600x100 1] 3
RAKIZIEIVY)-} (18-8-25) v=£gsbgg;2;ig.40x2—32. 10)x0. 10x0. 25 . 600x150 & 3
. X = h m,
B AR R 4 A= (36 60x2+35. 60x2-32. 10) %0, 25 = Bim e 600/750:300 | 3
RBORELI-+ (18-8-25)  V=(1.20x1. 20- 7 /4x0.90x0. 90)x0. 15x3 =  0.36m3 FRPIUIET B300 =1880 | X 6
SBORED A=1. 20%0. 15x4x3 = 2.16m
#iEF (BOX)
= B o HaN.
sl nm EEEA | cREE | O | wRaA | REm
2000x2400x2000 me 2 4 6 58 3.4.6.7
2000x2400x2000 BI85 # R 0 300x300 [] 1 1 - 15
JERR S LS
2000x2400x2000 {1884 = B O 1000x300 2 4 6 11,14 9.10.12.13
2000x2400x2000 PIREREMO 1200 () [] 1 1 - 16
BIE45 W O 300x300
kR Lt
2000x2400x1800 BR. TEERMDO @600 1 /] 1 2 -
ME#RTIT Y b
AT vt
2000x2400x1800 ER. THRERO ¢ 600 1 [] 1 17 -
BB ERRO300300
REEZEMO G 1200 (8
ME#®TZZ v+
JERRZE LS
AT v It
& i 6 10 16
# @& (RCIRE M)
E e 24ENO.
ol aw ERih | eRaE | °F | wwaa | oREE
2320x2760x250 B0 ¢ 500 1 0 1 1 -
2320x2760x250 B0 ¢ 550 1 0 1 18 -
& &t 2 0 2
BEX (T OMMFI)
) ] S W=
b5 30058 34
=& @600 148 S8t
$600 (FETFE) 14 28
MEAEM H=200 2@
HEE (R
- I = oo W =
avoyYy—+ 1.962 m3 24-8-25
BE 20. 104 m2
8%FRD13 35.820 ke
ERHER
H 3 7ot = [
AL Y— 11.725 m3 18-8-25
EE L0 10413 m2
EERD 78. 166 m2 t=0. 20m
BEILZIL 1489 m3
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R EEP1-RC-D600 _
H=EHEHE
Q@“
7 mI g
avs)— b (18-8-40)
HEEBERE (RC-40) A0 750 0
950
Co A= 0. 16m2
10mH =Y
HH R HER =¥ v H=
EWRa RC-40 0.95 x 10.00 m? 9.5
t=20cm
avyy—+ 18-8-40 |[(ERIBEMBERTLY) m 1.563
Eip —iREE |(EARBEMBRERSTLY) m’ 5.200
RC-17& ¢ 400 (EARBEMBERSTLY) . 4.10
EEEE 0.95 x 10.00 m 9.5
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et By = Y SR
FR& . EEP1-RC-DI00 ~
HEEHENK
&“QQ
4 8°
4 2
aLsy—k (18-8-40) /
EmpE ;o4 A% 1050 od

1250
Co A= 0. 29m2

10mH =Y

HH R HER =¥ v H=
EWRa RC-40 1.25 x 10.00 m? 12.5

t=20cm

arvyy—+ 18-8-40 |[(ERIBEMBERTLY) m 2.947
Eilp o — A |[(EREBEMIEERTEY) m’ 7. 200
RC-1%& @ 400 (ERBEMIEERTEY) V. 4.10
EEEE 1.25 x 10.00 m 12.5
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Al v R—) BaLuf-UHEHNE
Mg 3BT ER—IL _
H=EHBHE
T EE
i
A-A BF @ B-B B @
i mzen t;; — i H‘mﬂ pEam ;12;25‘ —
j £~ W7 150 § |- UM =50
9 7._%&3:_@.&5@ =t BB 900/1500 x 600
[ 1=
H/ WS 1500t Nl j.:. — =\ SRR 1500 x 1500
(% — Tt
\ // w+180]24 *\ﬂn
z = EERE P 1800 x 150 é g
§ R H "
- b
HH Hg FEX B {3 H=
HEEEE 1.80 x 1.80 x 7 / 4 m? 2.5
HERR RC-40 1.80 x 1.80 x &x& / 4 m? 2.5
t=20cm
ZRES
KR ¢ 1800 x 150 & 1.0
B} EE ¢ 1500 x 1500 & 1.0
r i ) B ¢ 900/1500 x 600 & 1.0
B ® 600/900 x 450 & 1.0
SHEEY) Y ¢ 600 x 50 & 1.0
SHES£E ¢ 600 x 25 #2 1.0
%= ¢$600 T-14 2 1.0
()
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s Eik R 0771-82-0200 (ft%)
\M i T
N i HEFAA < 3F 3H318
S U
N
[1600x600 18—831(;/ =t
12 LY
IHH Hg AFER ==K va =
B AR $76.3 THhEA v F+FHENATE m? 1.0
B
EiR ER{EH  [BI00-H500 ® 1.0
avsy—+k 18-8-40 | 0.60 x 0.60 x 0.70 m 0.25
g —fe®Ei [ 0.60 x 0.70 x 4 m 1.68
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AV RS )y FEE 400 m2 RFAHRETHTERRTE (EATSE : FEAED
No5 No6 No7 No8 No9 No10
No. A FA= 0.00 FH= 0.00 FR= 0.00 FH= 0.00 FR="182.65 FH= 0.00
GH= 0.00 GH= 0.00 GH= 0.00 GH= 0.00 GH= 181.57 GH= 0.00
== 0.00 = 0.00 == 0.00 = 0.00 = 1.08 = 0.00
Z0FH= 000 20FH= 0,00 EZ0FH= 0,24 Z0FH= 0,69 Z0TH= 0.45
Yt= 0.0 Y= 0.0 Yt= 0.0 Y= 0.0 Y t= 0.0 P t= 0.0
REt= 0.0 Bt= 0.0 REt= 98.0 Bt= 276.0 Et=  178.0 Bt=  552.0
Yy hEH= 400 7y rE#= 400 Yy hEH= 400 71y bE#= 400 Yy hEH= 400
No.B FH= 0.00 FH= 0.00 FH= 0.00 FH="T182.76 FH="182.37 FH= 0.00
GH= 0.00 GH= 0.00 GH= 0.00 GH= 181.78 GH=181.67 GH= 0.00
== 0.00 == 0.00 == 0.00 == 0.98 == 0.70 = 0.00
ZnFEH= 0.00 Z0FH= 0.00 EZ0FEH= 0.24 Z0FH=  0.63 EZ0FEH= 0.39
Yt= 0.0 Yt= 0.0 Jt= 0.0 Y)t= 0.0 Jt= 0.0 Pt= 0.0
#Et= 0.0 Bt= 0.0 = 98.0 BE= 262.0 ®E=  154.0 ®t= 504.0
5y FEE- 400 71y FEE= 400 5y EE- 400 7y HEE= 400 5y EE- 400
No.C FA= 0.00 FR= 0.00 0.00 FR="182.54 0.00
GH= 0.00 GH= 0.00 0.00 GH= 181.70 0.00
== 0.00 == 0.00 0.00 == 0.84 0.00
EDFEH= 0.00 =0FH= 0.00 EZ0Fg= 044 ZoFH= 0.4
Y t= 0.0 Yt= 0.0 Y= 0.0 ) 0.0 P t= 0.0
Et= 0.0 Et= 0.0 Bt= 1740 BmEt= 1740 Bt=  348.0
0y hER= 400 0y hER= 400 5y FER= 400 0y hER= 400
No.D FH= 0.00 FH= 0.00 FH="182.69 0.00
GH= 0.00 GH= 0.00 GH=181.79 0.00
== 0.00 == 0.00 == 0.90 0.00
ZnTH= 0.08 4 EZ0TH= 0.12 0.7 EZ0TM= 0.66
Yt= 0.0 .0 Jt= 0.0 0.0 k= 0.0 Y t= 0.0
Et= 31.0 .0 Et= 50.0 286.0 #wEt= 262.C BEt=  686.0
Yy hEE- 400 71 v FEE= 400 Yy EE- 400 71y hEE= 400 Yy EE- 400
No.E rn— U.uu ro- 102,09 VUrn— 162,09 ra-  102.01 rn— 162,00 FH= 0.00
GH= 0.00 GH= 182.22 GH= 182.33 GH=182.33 GH=180.94 GH= 0.00
== 0.00 == 0.31 == 0.26 == 0.24 == 1.72 = 0.00
Zn0FHH=  0.05 Z20F¥g= 014 ZnFH= 018 £20Fg= 0.92 Z20Fy=  0.84
Y t= 0.0 Y= 0.0 Y t= 0.0 Y= 0.0 Y t= 0.0 P t= 0.0
Et= 19.0 Bt= 57.0 Bt= .0 Ht=  368.0 Bt=  335.0 Bt=  850.0
0y hER= 400 59y FER= 400 0y hER= 400 5y FER= 400 0y hER= 400
No.F Fh= 0.00 N FR= 182.38 T OFR= 182,49 FR=" 182, FH="182.48 FH= 0.00
GH= 0.00 GH= 182.50 GH=182.33 GH= 182.33 GH=180.85 GH= 0.00
== 0.00 == -0.12 = 0.12 == 0.09 == 1.63 = 0.00
ZnTg=  -0.03 =nTFig=  -0.00 =0TH= 0.03 =nTig=  0.84 EZ0TH= 0.8
gt= -12.0 vil£=  -0.0 Jt= 0.0 Y]t= 0.0 Jt= 0.C k= -12.0
Et= 0.0 #t= 0.0 Et= 11.0 #E= 335.0 EE= 336.( Bmt= 6820
Yy hEE- 400 71 v FEE= 400 Yy hEE- 400 71y bEE= 400 Yy EE- 400
No. G FH= 0.00 FR= 0.00 FA= 182.33 NUERS 182,19 FA= 182.08 FR= 0.00
GH= 0.00 GH= 0.00 GH= 182.33 GH=182.29 GH=180.95 GH= 0.00
== 0.00 == 0.00 == 0.00 = -0.10 == 1.73 = 0.00
EDTF= 0.00 EDFH= 0.00 EDTFH= 0.27 EDTFH= 0.7 EDTFH= 0. 4
Y t= 0.0 Yt= 0.0 Y t= 0.0 Jt= 0.0 Y t= 0. ( P t= 0.0
Et= 0.0 Bt= 0.0 t= 109.0 B®E= 282.0 EE= 173.( Bt= 564.0
J0y hER= 400 51y FER= 400 J0y hER= 400 5y FER= 400 0y hER= 400
No. H rn— U. U rr- VALY - U. U NUrn- loZ.4y rn— U. U FH= 0.00
GH= 0.00 GH= 0.00 GH= 0.00 GH=181.30 GH= 0.00 GH= 0.00
== 0.00 == 0.00 == 0.00 == 1.19 == 0.00 = 0.00
Z0FEH= 0.00 Z0FH= 0.00 EZ0FEH= 0.30 Z0FH=  0.30 Z0FEH= 0.0(
Jt= 0.0 Yt= 0.0 Jt= 0.0 Y]t= 0.0 Jt= 0. ( Y)t= 0.0
Et= 0.0 Ht= 0.0 #EEt= 119.0 = 119.0 Et= 0. ( Bmt=  238.0
Yy EE- 400 71y FEE- 400 Yy FEE- 400 71y hEE= 400 Sy bERE- 400
No. T FH= 0.00 N FH= 0.00 N FH= 0.00 N FH= 0.00 FH= 0.00 FH= 0.00
GH= 0.00 GH= 0.00 GH= 0.00 GH= 0.00 GH= 0.00 GH= 0.00
= 0.00 = 0.00 = 0.00 = 0.00 = 0.00 = 0.00
gyt= -12.0 Y t= 0.0 Yt= 0.0 Pt= 0.0 Jt= 0.0 gt= -12.0
#Et= 50.0 ®Et= 1140 t= 556.0 = 2092.0 #t= 1612.0 Bmt= 44240

iz:97 72 s il T




